IR UeI 51 ¢vsH Heh fawafaenea, sameEe

AT (Assignment) 2016-2017
RIS Bl BRAHHA (THOTO)
Master of Arts Programme (M.A.)

fawa i faery #is : v .
Subject: Economics Subject Code : MAEC
i et - anfefe figra Frd P : grus AL
Course Title : Public Course Code : MAEC-03(0) 01 (N)
JAfeHAH 3idb - 30
Maximum Marks: 30
1. UM @ UfIhe & 39 &7 F9sid 87 YA @ faf=T ufied Semeil &l W $HIfT | 6

What do you mean by Returns to scale? Explain the different conditions of returns to
scale .
2. got gfaaifirar 3iR ool ufoifar & siT Y dor yd ufRiifiar & o ®H & vl @l Semeii &
RN HIFSY ? 6
Distinguish between perfect competition& imperfect Competition and explain the
conditions of equilibrium of a firm under perfect competition.
3. oA faRredr & forg i 27 | o T Sfa¥R alTd @ SR 99d 27| 39 ]l U1 § ArTerd emfid
R BY T & MY RIGTT Bl ARAT DI | 6
“Rent is payment for specificity” Rent is surplus over opportunity cost.” Reconcile these
two statements and explain MODERN THEORY OF RENT.
Section - B JAfHaH Ad : 12
yYrs — q Maximum Marks: 12

Ae : g S gl a | gl A9 & AuswR 200 9§ 300 Wil ¥ fod | @l yll 7 fart 2
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. U1 AgC BT A BT g | 2
Prof. Knight's theory of Profit.

5. JUMIET B g9 9§ 37T FT TS 8? 2
What do you understand by Consumer’s surplus.

6. ST A | 2
Cross Elasticity

7. g faWdTaRoT 1 2 | 2

What is priee discre mination.

8. BI=F BT TReA AEHA RIgT< FIT 57 2
What is liquidity Preference theory of Keynes?

9. AT &1 fm I 27 2

What is law of demand?
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AT (Assignment) 2016-2017
QRTEATTD el BrRIhH (THOTO)
Master of Arts Programme (M.A.)

fasr SONIES| faerg ors : v

Subject: Economics Subject Code : MAEC

ard ufiefs - ardete aefl e ad Prs - wugd Al —o03

Course Title : Public Economic Course Code : MAEC-03 (0)/02 (N)
Jferpdd 3id : 30

Maximum Marks: 30

dre ;. <rd I YR | U UREl $ SR 800 W 1000 weal H forRd | T we ffard € |
Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory

Section - A AferHad 3A®H - 18
s — I’ Maximum Marks: 18
1. AEGS @ & TR RIGT a1 T o | 6
Describe the ‘Wagner’ Theory of Public expenditure
2. faft=1 ot yonferal # s @t onfdfe fohamall @ fader FIfTY | 6
Discuss the economic activities of Statein different Fiscal Systems.
3. WRd # goic gc & Al & AT S IR BN | 6
Critically evaluate the policies of budgetary deficits in India.
Section - B AfHaH 3 : 12
Yrs — q Maximum Marks: 12

dIc : oY S U | TRl B 370 IwiR 200 | 300 Teal H fored | T e e ® |
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. 3T FHIACAT DI FHASY 2
Explain the meaning of efficiency of allocation.

5. T a9 8 ? 2
What is Debt management? .

6. JMIH 2010—11 BT U faRIvdrRi &1 9o & | 2
Describe the Key features of Income Tax, 2010-11.

7. SIS FOT UF AT B | H? 2
Public Debt is a burden! How?

8. AN PR P goic IR &I Bl Ufehar &f fada=r o | 2
Describe the procedure of preparation of State budget.

9. WIS g3l @l faRIydTy | 2

Characteristics of Social goods
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faw Jefore
Subject: Economics

" wfieie - uRumomare fafert
Course Title : Quantitative methods

fasrg @is : taud Al
Subject Code : MAEC
& dis : taUs . —03
Course Code : MAEC-04 (0)/03 (N)
JAferHa¥ e - 30
Maximum Marks: 30
e " Iy U | 3199 Wl @ S} 800 1000 vEEl H ford | Y wed Sifyard g

Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.

All questions are compulsory
JAferHad 3id - 18

Section - A
grs — I Maximum Marks: 18

1 A monopolist who produces 2 goods has two demand function given as Q,=40-2P,+P, and
Q,=P,-P,+15.there Q,and Q, denotes quantities of 2 goods and P; & P, prices of these goods
respectively of the cost function for the monopolist is given C=Q22+Q1Q2+Q12 then calculate
the profit maximizing quantity and price for both good. Explain how hessian Matrix will be
constructed in this case.
TP UHIRIGRI S q1 a¥gall &1 ST H3dl 3, & feold AT BT Q;=40-2P,+P, 3R Q2=P;-P,+15
3 &7 A fod g3 & | gsl Qa2 Q, QAT axgeil &Y AIAT 9 Py Ud P, S a¥gell @ Hhd &l
gertar 21 w1 % @fer &1 ana wod C=Q,2+Q;Q,+Q,2 & v # faar gam 21 3a Refa o
AT JARBTH B aTdl IS TR TAT ISP AT DT WR I T0ET Do) | 39 <= F
R aryE v yar sutar o g W wEEnEd |

2 On the basis of the table given below.

Construct a laspeyre’s index for the year 1995 to 1997 by taking 1995 as base year.
Explain which method is the most suitable method of constructing appropriate index number.

1995 1996 1997
Things Rate Tour Rate Tour Rate Tour
Shoe 52 3.2 56.00 3.8 61.00 3.6
Shirt 33 4.4 37.70 4.7 39.10 5.1
Glass 18 6.1 20.45 6.4 23.50 6.2
Biscuits 4.80 8.7 4.85 8.5 4.70 7.9

1995 &I AR 99 Ad g fra |IRoll @& SmeaR W

(®) 1995 A1997 & ford defER Yadied 1 ToFET FHifo |
(@) auzsd & wqfaa aoe a9 8g oI A1 faftr 999 suga &7




3. Solve the below.
Given linear programming model in X; and X,
Maximize Y = 45X; +55X%,
6X1+ 4X, < 120
180 > 10X, + 3X;

X:>0
X;>0
Mas g™ Arsd & STARAT & wwsd gd FreafafRaa IRae g Jaea & X 3w XA
ol HIford |
Section - B fSread id - 12
gvg — Maximum Marks: 12

dle ;oY IR YT | YAl B {U IR 200 W 300 ARl H ford | Yy Sifard 7 |
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4 For a given Cobb Douglas Predication function Q = AL" K**; >0, prove that it is
homogeneous of degreel.
IE fig IR & &id ST ST ®ad Q= ALK X>0,®1fe e &1 a9ard ®a gidr 2 |
5 Mention the role of initial condition in solving differential equation. How does the second order
differential equation help in examining the stability of equilibrium?
fordl sra@me e Bl g S d YRS T BT T A sidl 27 dgad bl ReRdr &
Tferor g fgda sife &1 sada wiiavor fou yeR weayef 27
6 Briefly explain Eigen value and Eigen Vector.
Wi § IS TRAT IS Al B wH A |
7 Differentiate between unconstrained and constrained optimization. Also mention and coefficient
of optimization.
siyfaafeaa qem yfoefaa sgaaafia @) arom § farv Wee $d g4 SUD! Al B GHssd |
8 What are advantages of standard deviation and coefficient of varieties in measurement of
dispersion?
garpq\ﬁfﬁtrﬁa?hﬁ»—rrwﬁmwﬁnﬁaﬂmé, Jedd @ B |
9 Mention the cause and components of change in many supply of the economy.




IR U39 51 ¢vsH Heb fawafaenera, sameEe

AT (Assignment) 2016-2017
RIEATTS Hell BrRIhH (THOTO)
Master of Arts Programme (M.A.)

fawa AT faera #s - g AL
Subject: Economics Subject Code : MAEC
P wiefs - P ors - g L —o04
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JferHad 3id : 30

Maximum Marks: 30
e ;. <" IcRig U | 3199 UUAT B SN 800 W 1000 eat H fordd | Ay wew ifard ©

Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory
Section - A JAfeHaH b : 18
s — 31 Maximum Marks: 18

1 Explain the important elements in the evolution of the concept of social security in India.
Critically evaluate any two important screams of social security implemented by the government
of India.

ARG ¥ IS YREAT & TR & A6 & Asqul a@l &l qHssy |

2 Why does process of wage determination and status of wages differ between agriculture,
industries and services sector in India? Critically wages whether bargaining theory and methods
of collective bargaining strategies explain this phenomenon
ARd A HfY, ST qu1 991 a9 fF 4 A9 FraRer @) gfear vd Reafa d fr=ar «0 arf
Sl 2?7 a1 e Rigra @ sagRen 9o anfRe diwash @ [ttt sw ugfn @ wgfua
ATRT YA Sl 22 dd SIford |

3 Why does dualism exist in the labor market of developing countries? Does the existence of
technological. Dualism accelerated the process of expansion of improve sector in an economy ?
Whether dualism and informal sector be always viewed as a problematic situation?

faprasiier 29 ¥ 29 9ok § gddic T 91T Srdr 27 w7 dob-ilie gddre ol 9rar S=1
IgtraRe 89 © fawr o yfear o fig oxar 22 dddrg X FvaRe &89 =1 893 e
TIT & ®©Y § @ ST ared?



Section - B fSread id - 12
ogug — q’ Maximum Marks: 12

dIc : oY S U | Ul & 370 Ik 200 F 300 Fear # forkd | w1 g i ® |

Note

: Short Answer Question. Answer should be given in 200 to 300 words.

All questions are compulsory

What do you mean by labour force participation rate now does LFPR can be measured?

o9 SIfdd |g ATEar <X 9 MU T 99sd 22 o ufdd ggwiffrar <X (LFPR) &1 w94 fad gy
foar wmar 22

Explain the equilibrium of labour demand and supply in a imperfectly competitive market.
qut gfoaifiar aoR § 59 @ 797 @ gfd @1 ggaa fam g aasnsd |

Whit the increase in population how occupation compositions has changes for the labour force?
SAEET 9fE A9 ARA H SFefdd @) AEdnide Ga9r 4 o8 uRdd smar 2?
Mention various forms of internal migration of labour in India.

IRA ¥ o9 & ATaR® yarg & A= wwul & =af sifed |

What do you mean by industrial relational/

Jtenfire w4 w1 arcgd 2?7 WRa W siefire weew g R Gfira fewely st
AT 519 g9 91l 59 @1 gedl Ygfd 9 ($9 ISR 59 Sl JiSsil &l JaeArdy 941 f&am?
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fawa T faerg @rs - AT AL
Subject: Economics Subject Code : MAEC
i wfielie - crfemer & o gomeh B s - MUgA —o05
Course Title : Research Method of Economics Course Code : MAEC-05(N)

JAferHaH 3ib : 30

Maximum Marks: 30
e I S uF | o WAl & SR 800 W 1000 TRt H fored | Wt w7 srfrard 2 |
Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory
Section - A JferHaH 3(® - 18
Yrs — I Maximum Marks: 18

1. U Ulhar & AR SfeReIrel &1 |iara goid S | IRATIMHS JHe A Ag THE )0 H
T BT | 6
Briefly describe the various stages involved in a research process. Explain the major
steps involved in quantitative research.

2. FETdT Ufoeras al aRAa #IfvTe | i gor &1 ufdee fafsai &1 awsmsy | 6
Define Probability Sampling. Explain various types of sampling methods.

3. TITTHS Bl ISy | WG AT AlSd &l Xl G- YA Afed W i 98d) A9 Ol 87 6
Explain Regression. Why linear logarithm model is considered superior to simple linear
regression model.

Section - B 3fSrdpdd 3P : 12
g — ‘q’ Maximum Marks: 12

A - oy S gl 7 1 vBY & 3 SR 200 9 300 wreat #F fored | wly yll 7 rfard 2
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. FHDI B YBR TAT TG qHTHRor dl fafe | 2
Types of data and methods of data classify-cation.

5. WIS 2 H yBdre 2
Enquiry in social science research.

6. IO e 2
Mathematical Expectation .

7. IR PHROCT W& | 2
Granger Causality Test

8. Ufcrde o 2
Report writing .

9. UR&HIT 2

Hypothesis.
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fawa i faera @is : g .
Subject: Economics Subject Code : MAEC
3| wiieis : e g - 11 ot BIs - gnug
Course Title : Economic Theory -11 Course Code : MAEC-02 (0)/06 (N)

JAferHaH 3ib : 30

Maximum Marks: 30
e <" ITRT U | 370 T @ IR 800 I 1000 Wl H fored | wy wee srfvard g |
Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory

Section - A fSrpad 3id : 18
s — 3 Maximum Marks: 18
1. RGP 3 JAT 3D BRI P AR BT | SHBT HHT DI AT 87 6
Explain the meaning and working of Acceleration : what are its Limitations?.
2. RT &I TS I B 0T | Bt A1 e o | 6
Write difficulties or limitations in measurement of National Income of India
3. Uoil @ AT & | 319 9T A 27 SHBT [AF—RT— UROT R 91 J4Td gl &7 6

What do you understand by ‘marginal efficiency of capital’? How does it affect
inducement of invest'?.
Section - B JAferHaH 3AH : 12
grs — q’ Maximum Marks: 12

e oY SRR TR | U B 310 Sk 200 W 300 weal H ford | i v aifard 2

Note : Short Answer Question. Answer should be given in 200 to 300 words. All questions are compulsory

4. THIfCTh TR DI YR W HIFY | 2
Explain the concept “Inflationary Gap’.

5. @l 4% & &I BRI BT ICIBROT BIFOTT | 2
Explain the principal fuction of a Central Bank.

6. H&T &I Wi IR AN B AR T | fAgE BT | 2
The demand for money is a demand for real balances. Discuss.

7. B D AOR—AH G [TaR BT MAreTcHs AT HITTT | 2

Give a critical account of Keynes’s views on trade cycles.

8. M fIcRor &7 UL 31eel SWIEH & U A IHIIHR Ugel S~ BT & | (M.vA.3N. fored) e
BT | 2
The question of income distribution is logically prior to the question of the ideal output.
(I.M.D. Little) discus.

9. USRMeRI ad WR Hfere fewofl faRey | 2

Write a short note on demonstration effect.
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CONIES faerg @is : ta g A

Subject: Economics Subject Code : MAEC

®d MD : FRICT JAATA 3IY $ls : AU AL
Subject Title : International Economic Course Code : MAEC-05(0)/07(N)

Note:

AfTHTH [P : 30
Maximum Marks: 30

4Td S U | 39 gEEl @ Scax 800 W 1000 ¥eal H ford | @l ye syfvrard 2
Long Answer Questions. Answer should be given in 800 to 1000 words.
Answer all questions. All questions are compulsory.

Section - A
© g — I

Iffhad 3ih : 18

Maximum Marks: 18

TRIER 3efer@ RIgFT <o @ ¥ RIS AUR P fhd UBR ThaTd AR

TRAd HRAT 87 AT BIAd GG AT AR 8 &l 30 a7 87 6
How does Heckscher Ohlin Theory logically explains International Trade
between contries? Explain the conditions for factor price equalization Theorem.

IR IR H WRGBIN BW-IT & Jglfdd HRebI Dl FasMed | gaad § faeg
IR FIMST b Jad STUR DI JTYRVT b Ted ARBRI Bed fha- ThTd I8 T
27? 6

Explain the theoretical behind goverrment intervention for Interntional Trade.

Under the ideology of free trade Organization, what is the relevance of
government intervention?

g &% 4 3y a1 WHed €7 I8 fhal UBR Bl Bl 87 bl W sreferdwer &
A=<IRD T I8 Aol DI HRIH Q@ ¥ Alfscs T ST I &I qfHel B =il

Pl FErIdl W gEssd | 6

What do you Understand by exchange Rate? How many types of exchange Rate
are these? Explain the role of monetary and Fiscal policies in maintaining the
balance of internal and external sector of an economy through suitable
diagraus.




Note:

Section-B

SHeE . o edaH 36 ¢ 12
Maximum Marks: 12

;O IR e | 91 & 3R 200 ¥ 300 vl # fored | |edt yet sifard € |

Short Answer Questions. Answer should be given in 200 to 300 words.
All questions are compulsory.

e & ufdRe w7 Rigra &1 R gRT 99=iey |
Explain Reciprocal Demand Theory through suitable diagrams.

3T gfeRerad vd frafa vicares &1 emuiRe Aifa § aar yanT far siar 81 Why

import substitution and export Promotion is used in the trade policy.

YA Fgeld H 3R & BRY DIFA—BF I 87 YA Agead H FARISH S
Il 87 2

What are the reasons for inbalance in balance of payment? How does
the adjustment process works in case of balance of payment?

ARA & da¥ | faell =0 31 Rfq & aran S | 2
Explain the status of external debit in the Indian context.
I BITh TAT STHBICA IR I Goll R0 Pl T8 | 2
Explain the short term and long term international capital transfers.
AR & el UR @ Wa # fUsd 3 <oel  # [heaasaddd ISR URadd
e 27 2
What have been the changes in the foreign trade composition If India in the last
three decades.
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Subject: Economics Subject Code : MAEC
o ufiels : A sreill ™= @1 S ®d @rs : el —o6

Course Title : Development of Course Code : MAEC-06 (0)/ 08 (N)

Indian Economics
rfread 3id - 30
Maximum Marks: 30

Are e S uvT | 8109 U3l & Sk 800 ¥ 1000 Treat H ford | |y yw sifard 2

Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory

Section - A AfrHwad 3idb - 18
Ygrs — I Maximum Marks: 18
1. SHEEIT gig BT AR & IHGTA—KR AT ISR—KR TR J4Tg FHSS | 6
Explain the effects of population growth and production- level of India.
2. RA & onffas fdard &g amfeies FRITe @1 smaegddr de AN |HSIS | 6

Explain the need and contribution of economic planning for the economic development
of India.

3. WRA # B B A4 BT BT 90 DI | $HD FAHerdl BT b DI | 6
Discuss new Strategy of agriculture in India. Evaluate its success.
Section - B B Ad : 12
yYrs — d Maximum Marks: 12

dIc : oY I U | Ul @ (U Sk 200 H 300 weal # ford | F1 W A 2 |
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. Frefaar @1 geEsm onfdfe fawr # i a2 | 2
Why is vicious circle of poverty an obstacle in economic development?

5. "R ST BT AR FHSSY | 2
Explain the concept of heavy Industry.

6. D "YRIET MUSRU oI 31, Sge Ud R FHSRY | 2
Explain the meaning objectives and benefits of a buffer stock

7. WRA H AMR 37 ERAT AT Flel 99 W Uh o forlRad | 2
What is Industrial Complex Analysis?

8. UHE PR IR U TR H WS DI | 2
Distinguish between direct tax and indirect tax.

9. Wb JAl & g H g1 @ax (ka2 2

What dangers are implied increase in public expenditure?
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and Planning
3fferead 3®d - 30

Maximum Marks: 30

Are . e S uvT | 8109 Ul & Sk 800 ¥ 1000 Treat H ford | |y yw sifard g

Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory

Section - A AfrHad 3P - 18
yrs — I Maximum Marks: 18
1. HSa &1 &9 Hafg Ared |HsSY | 6
Explain the price determination in monopolistic market.
2. Ra=siagd e 9 a1 s 8?7 e TR R 39! a1 fAaT &7 6
What is meant by decentralized planning? What is its role at district level?
3. UHIAgRd IR H Heg FeiRor s | 6
Explain the price determination in monopolistic market.
Section - B JAferHaH 3AH : 12
s — q Maximum Marks: 12

I : oY S U | TRl @ 30 Ik 200 F 300 ¥ear # ford | Wt wed aifard 7

Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. I1e] W Td Yol @I # R SR 2? 2
What is the difference between current account and capital account?

5. RIS &1 a7 3ref 2 ? 2
What is the meaning of Localisation ?

6. BEIIBRYT B IR qarsd | 2
Explain the economics of centralization.

7. 3ienfires wreia faveryo @ 87 2
What is Industrial Complex Analysis?

8. &FN oM & gad qacsy | 2
Explain the indicators of regional development.

9. JATETH—YUSH fATeIVT HT &1 Heed 57 2

What is the importance of Input-Output Analysis?
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Course Title : Management Economics Course Code : MAEC-10 (N)
JAferHaH 3ib : 30

Maximum Marks: 30
dre ;<" S U | 3 URHl & Swik 800 W 1000 T H ford | WYy aifard 7|
Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all question.
All questions are compulsory

Section - A JffSread 3w - 18
ogug — ‘I’ Maximum Marks: 18

1. Discuss the objectives of Managerial economics. How for the study of managerial economics
in the decision making process?
TSIDHTI I & Iqasl B fIag=T oiford | o ufdhar # a8 wal a6 IuAri 87
2. Explain the laws of returns with the help of a suitable diagrams?
SUgad o @1 Herar ¥ ufdhe & FgHl @) @ HIfoe?
3. “demand curve has a downward trend towards right”.

ART QAT @1 TSIl Jal ISl g7 R DI |

Section- B
[CLRET ATHAA b - 12
Maximum Marks: 12
Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all questions.

All questions are compulsory.
4. Give the scope of Managerial Economics?
TgIH AUF B &7 Bl IdIgU?
5. Discuss the different types of Costs?
A= 9BR @1 drFTd &1 fdded SIfTg?
6. “Profit is the reward for risk taking” Explain?
T SIRIH IS BT REHR 2 I BIfTY?
7. What is Monopoly? Explain determination of price under monopoly?
THITHR FT 57YRIMIBR & d Jed R B JaA8e?
8. What is Business Cycle? Explain
AR Ah FAT 8°
9. Now National Income is measured?

JET T S q1dT el 87




